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image6.png
In order to solve the following equation, John adds.
1o both sides of the equation.

After this operation, which of the following represents
the left side of the equation?

A

4

B.
c.
D.
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‘Which of the following couid be a first step in correctyy
‘solving the equation beiow?

oo w>
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‘The first step in solving this equation is to use the
distributive property on the eft side of the equation.
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Whichis the fist step in solving the equation
3=5+20-3)2

A
B
c
D.
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‘The cost of atol for any vehicle on the road s based
on the number of axles, 1 , on the vehicle. The cost of
the toll can be modeled by this equation:

702504075

What does the constant in this model represent?
A Every vehicle pays $0.25 per axie.
B.Every vehicle pays $0.75 per axle.

Every vehicle pays a minimum of $0.25 regardiess
of the number of axies.

Every vehicle pays a minimum of $0.75 regardiess
of the number of axies.

c.
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Consider the steps to solve the equation below:

—6-2-T)=29

Which of these is a correct frst tep in solving this
equation?

A 2
e 047
c 1=
D. =29
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'Davidis determining the perimeter of a rectangle. The

lengthis 5 + ., and the widthis 2. — 1 . He sefs up
the problem as follows.

Stepl SreGesre62i-d42r-d

Step2 Tl

Step3 lax-d

‘Which of the following describes the process
'David usedto obtain the expression shown in step 37

distribution
combining ke terms
‘solving the expression
evaluating the expression

°Oowm»
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‘The steps and the justification for each step in solving
the equation 3 - 2(31 - 4)- 14 are shown below.

3 6~ 8= ~14 Distibutive Property
=5~ 6x= —14 Substitution
~6v= -9

Which property goes in the blank space?
‘Addition Property of Equality
‘Sublraction Property of Equality
Commutative Property of Addiion
Commutative Property of Mulpiication

o0w® >
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What is the simpiified form of the left side of the
following equation?

R
A

cowm
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Jane shoots atoy rocket from ground level
with an inital velocity of  feet per second. The
height her rocket reaches can be given by the formula
6 ¢* . How can Jane determine when her rocket
wil strke the ground?
‘She can calculate and interpret the height, ., for
which the time,  ,is atits maximum time.
‘She can calculate and interpret the time, / , for
which the height, 1, is at s maximum height.
‘She can calculate and interpret the height, . ,
values for which the time,  , of the rocket is zero.
‘She can calculate and interpret the time, .

D, values for which the height, ., of the rocketis
zero.

A

B.
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The length of a rectangular yard is 12 feet more than twice its width. The fence that encloses this yard is 276 feet long.
Whatis the length of this yard?

A 42feet
B. 54 feet
C. 84 feet
D. 96 feet
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Mrs. Wheaton solved the following problem on an
overhead projector

Step L S(6+1)-K=72
Step2: 0+ 5
Step3: -5 -

2450

Steps: s=10

Which property did Mrs Wheaton use when she
‘wrote Step 31in this problem?

A associative property

8. distributive property

C. commutative property

D. additive identity property




